Fill in this information to identify the case:						
Debtor 1 Fox Ortega Enterprises, Inc.						
Debtor 2						
(Spouse, if filing)						
United States Bankruptcy Court Northern District of California						
Case number: 16-40050						

FILED

U.S. Bankruptcy Court Northern District of California

3/21/2016

Edward J. Emmons, Clerk

Official Form 410 Proof of Claim

12/15

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the Clair	m					
1.Who is the current creditor?	Harry Shanis Name of the current creditor (the person or entity to be paid for this claim)					
	Other names the creditor used with the debtor Hal Shanis					
2.Has this claim been acquired from someone else?	✓ No ☐ Yes. From whom?					
3. Where should notices and payments to the creditor be sent?	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different)				
	Harry Shanis					
Federal Rule of	Name	Name				
Bankruptcy Procedure (FRBP) 2002(g)	105 Birches Lane Bryn Mawr, PA 19010					
	Contact phone610-513-7929	Contact phone				
	Contact email shanis.hal@verizon.net Contact email					
	Uniform claim identifier for electronic payments in chapter 13 (if you use one): ————					
4.Does this claim amend one already filed?	✓ No☐ Yes. Claim number on court claims registry (if known	n) Filed on				
		MM / DD / YYYY				
5.Do you know if anyone else has filed a proof of claim for this claim?	☐ Yes, Who made the earlier filing?					

6.Do you have any number you use to identify the debtor?							
7.How much is the claim?	\$		Does this amount include interest or other charges? ✓ No				
		ı	Yes. Attach statemen other charges require	t itemizing i d by Bankrı	nterest, fees, expenses, or uptcy Rule 3001(c)(2)(A).		
3.What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as healthcare information.						
	Bottles of Wine bought but never received						
9. Is all or part of the claim secured?		Yes. The claim is secured by Nature of property: ☐ Real estate. If the clai	m is secured by the debt		al residence, file a <i>Mortgage</i> –A) with this <i>Proof of Claim</i> .		
		Basis for perfection:					
	Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)						
		Value of property:	\$		_		
		Amount of the claim that secured:	is <u></u> \$		<u>_</u>		
		Amount of the claim that unsecured:	\$		(The sum of the secured and unsecured amounts should match the amount in line 7.)		
		Amount necessary to cur date of the petition:	e any default as of the	\$			
		Annual Interest Rate (whe	en case was filed)		%		
		☐ Fixed ☐ Variable					
10.Is this claim based on a lease?		No Yes. Amount necessary t o	o cure any default as o	f the date of	of the petition.\$		
11.Is this claim subject to a right of setoff?	Y	No Yes. Identify the property:					

Official Form 410 Proof of Claim page 2

12.Is all or part of the claim entitled to priority under	Y	No Voc. Chook all the	ot opply				Amount entitled to priority
11 U.S.C. § 507(a)? A claim may be partly		Yes. Check all tha ☐ Domestic suppo		ione (inclu	ding alimony an	d child support)	
priority and partly nonpriority. For example	Δ	under 11 U.S.C.	5. § 507(a)	(1)(A) or (a)(1)(B).	a criiia support)	\$
in some categories, the lawl imits the amount entitled to priority.		Up to \$2,775* of deposits toward purchase, lease, or ren property or services for personal, family, or household us U.S.C. § 507(a)(7).					\$
		☐ Wages, salaries 180 days before business ends,	s, or comn e the bank	cruptcy pet	tition is filed or t	he debtor's	\$
		☐ Taxes or penalti 507(a)(8).			-	. , . ,	\$
		☐ Contributions to	an emplo	oyee bene	fit plan. 11 U.S.	C. § 507(a)(5).	\$
		☐ Other. Specify s	subsectior	n of 11 U.S	S.C. § 507(a)(_)	that applies	\$
		* Amounts are subject to fadjustment.	to adjustme	nt on 4/1/16	and every 3 years	after that for cases	begun on or after the date
Part 3: Sign Below							
The person completing this proof of claim must	Che	ck the appropriate b	oox:				
sign and date it. FRBP	V	I am the creditor.					
9011(b).		I am the creditor's	attorney o	or authorize	ed agent.		
If you file this claim electronically, FRBP		I am the trustee, or	r the debte	or, or their	authorized age	nt. Bankruptcy I	Rule 3004.
5005(a)(2) authorizes courts to establish local rules	☐ I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.						
specifying what a signature is.	I understand that an authorized signature on this Proof of Claim serves as an acknowledgment that when calculating the amount of the claim, the creditor gave the debtor credit for any payments received toward the debt.						
A person who files a fraudulent claim could be		e examined the informat	ation in this F	Proof of Clair	m and have a reaso	onable belief that th	ne information is true
fined up to \$500,000, imprisoned for up to 5	I declare under penalty of perjury that the foregoing is true and correct.						
years, or both. 18 U.S.C. §§ 152, 157 and 3571.	Executed on date 3/21/2016						
	LXC	cuted on date	3/21/201		_		
			MM / DD	/ YYYY			
	/s/ Harry Stern Shanis						
	Sign	ature					
	Prin	t the name of the pe	erson who	is comple	eting and signing	this claim:	
	Nan	ne		Harry Ster	n Shanis		
	T'd.			First name	Middle name	Last name	
	Title	}					
	Company Identify the corporate servicer as the company if the authorized agent is servicer Address 105 Birches Lane						
							he authorized agent is a
				Number Sti	reet		
				Bryn Maw	r, PA 19010		
	C :	.to at wh = :- =		City State			
	Con	tact phone (610	0) 513–792	29	Email —	shanis.hal@veri	zon.net

Official Form 410 Proof of Claim page 3

Attachment to detail the claim from Premier Cru (Debtor) under chapter 7

Case No.: 16-40050 WJL 7

Creditor: Harry (Hal) S. Shanis

Date Purchased		Price per Bottle	#	‡		
05/17/2014	0000445134	49931	2012 Corton Pougets, Jadot	\$53.99	6	\$323.9
08/29/2014	0000453956	50647	2012 Gevrey Chambertin, Sylvie Esmonin	\$34.99	12	\$419.8
08/29/2014	0000453956	50295	2010 Chianti Classico Riserva Rancia, Felsina	\$34.99	12	\$419.8
01/24/2015	0000467637	51279	2013 Chambolle Musigny Beaux Bruns, Faiveley	\$51.99	3	\$155.9
02/24/2015	0000471425	45423	2010 Gevrey Combes Au Moine, Roche de Bellene	\$45.49	6	\$272.9
02/24/2015	0000471425	45366	2010 Chateauneuf Les Origines, Grand Veneur	\$38.34	6	\$230.0
03/15/2015	0000473416	51792	2012 Giusto di Notri, Tua Rita	\$25.34	12	\$304.0
				TOTAL		\$2,126.7